=
g

=T AT

Custom SUV and Truck Accessories

INSTALLATION INSTRUCTIONS
BULL BAR 73300
2007 TOYOTA FJ CRUISER

PARTS LIST:

1 BULL BAR

2 BRACKETS DRIVER/ PASSENGER
47/16 X 1 1/4 HEX HEAD BOLTS
47/16 HEX NUTS

8 7/16 FLAT WASHERS

43/8 X4 1/2 HEX HEAD BOLT

43/8 NYLOC HEX NUT

8 3/4 FLAT WASHERS

PROCEDURE: /)
1- REMOVE CONTENTS FROM BOX A ;?/ H CK FOR DAMAGE. VERIFY
ALL PARTS ARE PRESENT. READ’INSTRUCTIONS CAREFULLY.

2- LOCATE FRAME MOUNT FOR ‘R'BRACKET (DRIVER SIDE
SHOWN). INSERT (2) 3/8 X 4 1/2 HEX{IEAD BOLTS, (2) 3/8 FLAT
WASHERS. INSTALL LOWER BRACKET USING (2) 3/8 HEX NYLOC
NUTS, (2) 3/8 HEX NYLO (2) 3/8 FLAT WASHERS, LEAVE LOOSE.
SEE FIG. #1

3- REPEAT PROCEDURE #2'ON OPPOSITE SIDE

4- INSTALL BULL B2 TO VEHICLE USING (4) 7/16 X 1 1/4 HEX HEAD

IYLOC NUTS, (8) 7/16 FLAT WASHERS. LEAVE

DRIVER SIDE
SHOWN

PASSENGER
SIDE SHOWN

3/8 x4 1/2 HARDWARE

7/16 HARDWARE




